642117

Wiith mManked KNG, &

CODE 23

uﬂ@mdﬂl

PART - I1: SCHOLASTIC APTITUDE TEST
(For Student of Class VIII)
Time : 90 Minutes Max. Marks : 90
INSTRUCTIONS TO CANDIDATES

Ruead the following instroction carefully before you open

the Question Booklet:

L Answers are to be given on the same OMR Answer
Sheet provided for Part- 1.

2 There are % questions in this test booklet.  All are
compulsory.

3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Schence subjects.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Donot mark " or % in the OMR sheet.

5. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending oo much time on any one question.

6. If you donot know the answer o any question, do nat
waste time on it and pass on o the next one. If Bmie
permits, you can come back to the questions, which vou
have left in the first mstance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/ loose paper.

8 Eachcorect arswer will be awarded one mark

9. PMease return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet

10. Quote your seven digit Roll Number without fail for
any future cormespondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.,
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MATHEMATICS/ senfl g0

(20+7)+12=20+(7 + 12). This satisfies
which of the below mentioned property ?

(1) Closure property
(2) Commutative property

(3)  Associative property
(4) Additive identity

Find the value of :

[( =60+ 3) +10] x [(45 +3) = 2]

(1) =156
() -25
(3) 120
(4 =130

The base of the parallelogram is four times
the height and its area is 256 cm? then, its
height is ¢

(1) 4em

(2) 6em

(3 EBem

4) 16 cm

9.

92,

93.

(20+7) +12=20+(7+12) ararug &
sam_aihmdt ahs vaneu Hepey
Qb 7

(1) Sl dery
(2) wflorpol wery
B Csiuyl uahny
4) &Ll swoah

l.llﬁl.:lq sngne

[(—60+3)+10] x [($5+3)—2]

(1) =156
2 -2
(3) 120
@ -130

om Bemmariflean Siglussnrang
SiFg@ mwigess Gure 4 LLMG
WEPL Sigar uruy 2356 Qe b? aafld,
Digert BT

(1) 4Qs.8
2) 6 Ge8
® 8Qs
(4) 16 Qw8
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9. (2x+3y—=4z) +(bx =10y +14z2)— 94, (22 4+3y—4z2)+(bx =10y +14z)~
(15x + 8By = T2)=? (15x 4+ 8y —72)=?
(1) =7x+y+i: (1) -7x+y+3z
) 7x+y-17: (B Tx+y—-17z
(3 ~7x-15y+17: QO -m-i15y+17:
(4) =7x+15y+17: (4) —T7x+15y+17z

95, If (304 x)* = 50625 then, the value of x is 95, (30 +2x)'=50625 grefle, x -en wH

(16 (1 16
(2 4 (2 4
(3 -15 @ -5
4 -3 ) -3
96, The value of (15x16 % 17)" is ; 96. (15%16x17)" -én WAL :
(m o (1 o
@ 1 d
(3 15 3 15
) 17 @ 17

97. The unit place value of the number | 97. 10224108+ 10M génp Carenauulen

10724 105 4+ 10% s Ganmmb @a&si :
m o O o
@ 1 2 1
(3 2 (3 2
(%) 3 (4) 3




100,

101,

dri—Syy+ 28 +Bxy—y by is a:
(1)  Monomial

(2) Binomial

(3) Trinomial

(4)  Polynomial

The number of zeros in 1007 s

(n 2
2 3
(3 10
(4) 20

If 5m+15 = 20 then, the value of 'm’ is:
0]
()
(3)
4

=0
m=1
m=]

m=1

If Babu repaid T 10,824 as total amount for
a loan of T 8,200 at the rate of 8% p.a, how
many years he had taken to repay the
amount 7

(1) 1
(2) 3
G) 4
“ 5

100,

101.
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4 -5y + 27 + Bay — ¢ Hay STERILE S0
(1) eogius Carea
(2) mro@DUgys Csremes
®
O

ppaypiuyE Garenay
ugmouys Canea

100" @ ede gedludsefian
T anailEan :

My 2
2 3
(3) 10

Sm+ 15 < 20 -@én iy
(8}
(2)
3)

@ m=1

mz1

Uy aaruel 8% saflauy Spgdé
T 8200 - sLersy Wuhm T 10,824
fmeous Qegigflant aalld e
eREnstanran e aauaima) ?
(1
@ 3

(®)

4
4) 5
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102.

103,

Find the value of ‘m’ in the figure,

L
60"
m®
#8"
(ny 72
(2) 122
(3 29
4 32

If two plane figures are congruent then, they
are said to be :

(1)  samein stz

(2) same in shape

(3)  same in angle

(4) saune in both size and shape

102. uL SBgudren ‘'m' -én wHOY srdns.

60 o
'
.EBF
(1 72*
Q@
@ 29

(4) 5

103. @m gon e (Beukiss sieuswb sraflés,
SHEDNEL

(1) &w Seray 2 e wwene
(2) &0 augend 2@ Wil
(3) =0 Gamanm yemey senLuiemeal

@ s Adalh s akgakd
L@l wanal



104. Pick out the correct statement(s) from the

105.

106,

following,.

() In a trangle, there will be more than
one right angle.

In a triangle, there will be only one
obtuse angle.

In a triangle, all the angles can be
acute.

(i)

(iii)

(iv) Ina triangie, all the angles are obtuse.

(1
(2)
(&)
()

(8, (1) andd (i11) only
(1) omly

(1) and (iii) only
All of the above

The median of 18, -4, 0, -3, -8, =13, 1,
7.8,9.13.

(1) =13
@ 18
3 1
) 0

The centroid of a triangle divides each
median in the ratio

) E:2
(2) 2:1
&y 13
4) 3:1

104.

106.

|coDE [vimr] 11 [ 23]
darmmb sppsaid sflurmapaps
CafpUsBésab.

M &m péCsrangfla oeaDES
G’ GeiC S :

o0 dpsGarargda 8Cr e

SIfCsramd WL G Siewiyh,

o0 WiCaramsho moapy
Carmrius@rn GphCanasri-
SIS SHEUDWLD,

on waGsrargfid g
Canamrius (@sib A Caramb Sy mb.

(1), (i) wpmd (&) o @b
i) (0 Bib

(1) Wi (i) i {Hn
Copaadlu seambgb

(i)

(i)

(iv)

(n
(2)

0

4)

18, -4,0, -3, -8, -13,1,7,8,9,3 a8,
sresafid Gl Slea

1y -13

2) 18
(o 2

(4 0

om EGsranjia pHaGsnl(®

@uuwTag gdllans pHECamC -
wh ___ Bfspad Gfsdpg.
(1 1:2

O 21

@ 1:3

(4) 3:1
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107.

108.

1049.

110.

If a class size is 10 and range is 80, then the
number of classes are :

(1) 80
(2) 10

l_[l-i],[l_?:]_?_ -
2 \3 672746

subtraction does not satisfy the
property for rational number,

(1) Commutative
(2) Closure

(3) Distributive
(4) Associative

Identify which among the following is a
linear equation.

(1) 7k3-16=0
(2) m-16=0
(3) 4pi=12
(4) 6x*=18

The graphical representation of ungrouped
data is :

(1) Histogram

(2) Frequency polygan
(3) Pie chant

(4)  All of the above

107.

108.

109,

110,

0

Aifiey erey 10 oppb s 80 aafld
Wflaisefin cavatidans

(1) &0

(2) 10

@) 7

@ s

(3 3 .
(333 et
feopey Geuwng aauas Slarks-
Ang.

(1) ufwrhn

(2) SenLgy

(3) undl(®

Gaming

Garaimaimaphd g GCplud
sunsmun(y ?

(1) 7&*-16=0
@ m-16=0
(3) 4p*=12
(4) bdxrt=18

Qasr@asuLrg dlauruaafla auenpuL
dlevsa panp

(1) Pspey Gsiaisd

(2) flspey voGaresrd

0 el deadsiub

4) Qe sioabgud
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SCIENCE/ gfleflwed

111. Match the following, 111. Qurmgs -

(a) Astronomical (i)  9.4607 % 10'* km (a) anaflud (1) 9.4607x 1012
unit S 4.8
(b) Light Year (i) 1.6 km (b) ol s (i) 16 8.8
() Parsec (i) 3.09x%10" km (c) eflamafludg (i) 3.09x10" £.8
PRI

(d) Mile (iv) 1.496x10% km (d) anwd (iv) 1.496x10° & 8
(1) (a)iv), (b)), (c)-(is), (d)-(i5) @ (a)-{iv), (b)), (e)-(uid), (cd)-{it)
() (@)-Ei). (b)), (c)-i), (d)-(1) (2)  (a)-{aid), (b)-av), (c)-{ii). (d)-(0)
(3 (a)-gid), B)-G), (©)-{iv), () (3 (@)-(d), )-(), ()-v), (d)-(i)
(4} (a)i), (b)-fiv), (c)-(i). (d)-{uir) (4)  (aj{i), (b}-(iv), (c)-{i). (d}-fiii)

112. The main effects of electricity : 112, BeaCam_Lgden adlu eSlaereyser :
(i)  Heating cffect ) Gl sileersay
(i) Magnetic effect (i) &nps Henarey
(i) Chemical effect (i) Geudl eblenanrey
(1) (i) and (iif) (1) (i) opheb (i)
(2) (i) and (i) (2) () whgd (i)
(3) (i) and (i) (3) (i) oppb (i)
(4)  All of the above @ Cupsmbu swaggd
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113, Pick  out

114.

115,

the incorrect  stalement

Primary coll

(1)

)

3)

)

The chemical reaction inside the
primary cell is irreversible.
It can be recharged.

It is usind to operate tovs and torch
light

Diry cell is an example of primary cell.

The term “SCHOOL written in school buses

appears as " JOOHD2* in the mirror
because of ;

(n
(2)
(3
(4)

Real Image

Virtual Image

Di -
Lateral Inverston

The type of mirror in which the reflecting
surface directs the entire incident beam of
light to converge ot the focal paint is called :

(1)
(2)
(3
(#)

Parabolic Mirror
Convex Mirror
Concave Mitror
Plane Mirror

10

13, gapren sapeops CaiplsHasayb.
pgemenn lanaewe
(1) Peapdie peanGugb Cadeliamen-
wreng @ e eflener gy,

Beasamer Ban@b faCarpon
Qe Bugib.
(&)

Qumbenipasstr, wa (Beneilandgaat

Cuminmp Ablw sngemsmar @uuss
Uiwaru B Sanmen,
4) oot Bearsew apa@an Ha-
SIEE SOSHESTLTED

114. 'SCHOOL' sren wdrefls Cumpfe
SISO LG Sl " JOOHD2" erangd
Esflegen anyemb

(1) G 1Sbuih
(2) wmu Slbub
(3 Gfdper

@ Qrawwnppi

115, a@Crrefiasd uydunegy padp
gy gefisapep Ao@FFeopuyd
gelwliydrafile slimn Ly

U :

0 uwiamenw s
(@)
3)
()

@eaflwimg
Bluimg
EDSST Splg



116. Which one of the following instruments uses

17

118.

119.

the Laws of Reflection ?
(H
(2)
(3
4)

Camera
Torch Light
Periscope
Handy Lens

Find the equivalent value of 68°F in Celsius,

10°C
20°C
15°C
235°C

(n
(2)
(3)
(4)

During BigBang Explosion, the level of
temperature was :

ny 1W0=K
(2) 1W¥F
(3) 1W0%C
(4) 10-2K

The type of reflection formed when a beam
of light falls on the smooth surface :

Total Internal reflection
Multiple reflection
Diffused reflection
Specular reflection

()
(2)
(3
4)

11

116.

117.

118.

119,

ICﬂDEl'ﬂﬂl i1 I 23 I
eflQrrefily Ay Qrudu@b
aqyed] -

(1)
(2)

©)
@)

IO
Lfd el
QuflenGanu

s _ds Goans

88°F Caulufleowss swwner Seddlus
wHl9mens samflua)b.

(1) 10°C

@ c

(3) 15°C

(4) 25°C

Gl Gang iy Flaphs Gung e meunan
CGainsdlen mema, -

@ w2k

(2) 10°"F

@3 102°C

4 WwEK

supepliurer Ll geflasdiadr
amaundEn afQrrafily garenwu@en
@i -

(1
(2)
(3

o

apupsis adbgmediiy
udips SBAyTeRL
eireusnen erdQunaficiy
s g erBGymafioy)
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120. The speed of sound in air at 273 K and | 120. 273 K wigd 295 K Hfwu Qaudu-

295 K respectively are : fleowsafio gallllar Casn weapGu -
(1) 3x10° ms~ 1, 33 ms~! (1) 3x10* ms~*, 331 ms—!

(2} 344 o, 360 ms ! ) M ms ! 360 ms!

(3) 331 ma !, 344 ms ! O Bims ! 34ms!

4) 3 ms L Ix10* ms! 4) 3% ms !, 3x10% ms—!

121. The pressure cooker handles are made up of | 121, Sipegayi gasfar eanQysd gumfid-

baelite, The reason is : ue Guisml. LLEIBFELLGAIEE
SNTTESETLD

(1) Conductor (1) aLggmb Qunmer

@) Insulator O s ssn Quamean

(3) Decorator () swRsTyd Surmer

(4) Easy for handling (4) sauwnss eswumand Gummer

122. Which of the following is wrongly paired ? | 122, gaupnen @evameowss CaihblsDasab.

(1) Proton - Goldstein (1) yGomiinégr - Candi_eumen
(2) Electron - 1.l Thomson (2) ereslgmed - GHG& EMibsen
(3) Neutron -  James Chadwick 3) Puigmén - Gauben snlela
(4) Electron -  Bohr @ cas_gmean - Guni
Cloud Model sl L RIS
LA

12



123.

124.
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Choose the correct pairs. 123. sflwreat Pevamsmens GEHiEdsHasan.
(i)  Antiseptic - lodoform () peEngQFigs - CunBmunmb
(i) Antibiotic - Chlorophenicols (i) eyemgLimmiigd - GEamrmiafand
(i) Natural - Ethanol (iii)  @iens g Qeligs - adpemd
Antiseptic BeschmmaRny Oafay
(iv) Analgesics - Aspirin| Qedw senasouc@am | (iv) euedl Hleurgenfl - gyevbidien
1 a ‘mﬂ » L] - #4 ] L]
(1) (i) and (ii) only ourgssnppmanna | (1) @ 0HDb () wGib
(2)  (iii) and (iv) only ""’“’:‘;ﬁ;‘“&"" (2)  (ifi) whmib (tv) L {Hib
(3) (), (i) and (iii) only | weemessessmbes | (3) (1), (i) WHHD () WL Hb
(4)  All of the above e R 4) Cupsmplu senendgb

Which type of fire extinguisher is used to
control the fire on butane and methane
gases ?

(1)
(2)
(3)
(4)

Water

Dry Powder
Foam
Co,

Choose the incorrect statement.

(1) Curdling of milk is an example for

irreversible change.

Churning of curd is also a physical
change.

(3) Freezing of water is an example for

chemical change

(4)

Rusting of iron is an example for
chemical change.

13

124, Gl Gien whmd B0 eun&sen
Fuupfleind Slahan seoarasl
Lwenupib Suleneammiiime
(1 i
Q =i g
(3  mieng
(#) €Oy

125, sapra spons Coiposbasa.

(1) upe pulrmpd aerug gy BSern

eflenanwin b,

(2)

(©)

sllamys SLgD U GO
Bup@ud wrpporEb.

Bt eongd ez CeudBud
wnppsPHE G0 TOEHEET-

LN@LD.

(#) Boby sELSyssa aaug
Gaudlufiwses wmmaBihanan s (bdgié-
SITL_Lim@LD,
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126. The elements which are synthesized

127.

125.

artificially in the laboratory out of 118 are :

(1) 24
@ 26
(3 18

4) 21

Liguicl metal : Mercury © : Liguid non-metal :

(1) Bromine
(2) Chlorine
(3)  Sodium

(4) Antimeny

Hg**. Sn®* jons have the following names
respectively,

(1)  Stannous and Mercurous
(2)  Stannic and Mercuric
(3 Mercurous and Stannic

(4)  Mercuric and Stannous

14

. flran e Canad : urgrsd -

126. @@evany samHluiuc e 118 gaflo-

safld Hlasdsddld Qeupamsuns
purfl&aiul L pafl o salas
sam@Eiams

Q 2

@ 26

3 18

4 2

L ﬂl]liu
CamEw ;

@ L Gonufilgn
(2) @Gamfien
(3) Camguub

4) eEiguoal

. Hg?*, Sn?" swellsgmes aphisd-

ulpn Guuirsea apenGus -

(1) auCiemandy wpmib Swr@reu
(2) wGLinalls whpd Cuwiefis
(3) Quigrey oppb aGLaels

@ Gwishs whpb dvGdas
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The element denated in the diagrant bs ¢

(1) Ar (1) Ar
2) Kr (2) Kr
(3) Ne 0 Ne
(4) Rn (4) Rn
130. In Haber process, acts as a | 130. Cgpufr damala deaysduns
catalyst. CrwshuHaugy -
(1) Ammonia (1) SbGoraiur
(2)  Nitrogen (2) Fplogar
(3) Tron QO Booy
(#) Hydrogen (4)  eopnoge

131, The gases used to remove germs and bacteria | 131, §flé edver &mllsdr whpd unded-

present in waler | wrssaen fis LwaLFD aumybsdr :
(1)  Chilorine and Orone @ @Camfla whpbd @Gsnan

{2)  Hydrogen and Oxygen ) epplyme whph il
(3)  Carbon and Oxygen () sniuen woh s

(4)  Chlorine and Hydrogen ) @Gemfiles whpbd pl gL

15
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132, s used to neutralize the pain | 132. apuby sy agn Cung gHuBd ad
and irritation coused by ant bite. whHmib evflésd eamiaysanean
(1)  NaOH (1) NaOH
(2) KOH (2) KOH
(3) Ca(OH), Q@ Caom,
(4) NaCl (4) NaCl
133, Match the following. 133. Qurmsses
() Storage root (i) Pisum () Gsfldy Gaulr () wicmesfl
(b) Sucking oot (ii) Colocasia b efss Ganr () Ceoum
dyphs
(¢)  Tendrils (i) Beet root (©) ubpé sb@ @) Sl
() Underground (iv) Cuscuta (d) seopdp san(® (v) sdoglin
stem
(1) (a)-duii), (0)-41), (€)-(1), (d)-liv) (1) (a)ii), (0)-), (c)-G), (d)-(iv)
(2) (@), (B)-v), (e)-40), (c)-{ii) © @G, b)) (©)-4). (d)-6i)
(3)  (a)-{iii), (bp-€iv), (e)=(ii), (cd)-(i) (3 (@)-{i), (b)-{iv), (€)-(H). (d)-(i)
(4) (a)-(iw), (b)-{ii), (c)-H), (d)-(1) (4)  (@)liv). (b)-(isi), (e)-(i) (d)-(i)
134. Preumatophores are seen in: 134, ol GunCunisd aramiuBeg :
(1)  Avicennia and Banyan () seufefus ohpd Hewnb
(2) Vanda and Cuscuta (2) suneTLr whHob s@ELT
(3 Sugarcane and Betel (B3) &smby wHpe bl
(1) Avicennia only 0 addaliunr wlGb



135. Which of the following is/are correct with
regard to post fertilization changes in
plants ?

(i)  Petals fall off

(i) Owary develops into fruit
(ii) Owules develop into seeds
{iv) Androecium fall off

(1) (i) and (iv) only

(2) (i) and (i) only

(3) (i) only

(4)  All of the above

136. The plants which produce spores are :
(1) algae, fungi, mosses, ferns

(2) algae, fungi. spirogyra, ferns

(3) fungl mosses, ferns, yoast

(4) algae, mosses, ferns, spirogyra

137. The dominant plant forms of present day is/
are ©
i) Preridophytes
(i)  Angiosperms
(i) Gymnosperms
(iv) Bryophytes
(1) (i) and (i) only
(2)  (uis) and (iv) only
() (iv) only
(4)  (H) only

17
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135. graurmasdiia soypsRSGU deayy
FIhuie wipphseiid ag/awea =M 7

() Sidsa &Gy = Stdps

@) @Heou saiiurs wWIpSDE
(i) @eosdr depaems LPSnE
(iv) warpssrar awllb efidpg
(1) (i) wHPID (iv) WG

@) () wpgd (i) B

(3) (i) w Bb

@ Cupsbu s@mbyo

136. @GUNE@ar e heur&@n Freurmsdr ;

Q) urdlsar, Wesmsss, wrdvsdr,
Gureeflas

(2) undlsdr, yEsamssd, duenuGon-
amagm, Quresfisar

B) eseosad, wrevadr. Surafisdr,
.

(4) urdled, wrevsd, Quyeafisa,
svauGrranann

137. sparesBd ewryb sragiaeia
Waapd Cubunr® e bpea ;
M)  GuAGLr eul_Psd
(1) aErfGunavEunbssh
(i) sPuCamav@uibad
(iv) SarGureii_(Hadr
(1) (i) wmgud ()
(2) (i) wHpb (iv)
@ Gv) v
@ ) wipn
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138. Agar Agar is extracted from

140.

(N

(2)
(3)
(4)

(i)

(1)

(i)

(iv)

(h
2
(3
(4)

Chilorells and Spirulina

Gelidium and Gracillaria
Ulva and AscophyTlum
Laminaria and Anabaena

Find the correctly matched pair :

Haustoria - Special rools present
in parasite

Polypetalae - Petals which are many
but not united

Autotrophs - Organisms which
prepare their own food

Gamopetalse - United petals,

(1) and (1) only

(1) and (i) only

(i) (1§) amal (i) only
All of the above

Select the incorrect pair -

(1)

(2)
(%)
(4)

Lnicellular Euglena

organism
Arthropoda

Echinodermata -
Annelida -

Snail
Star fish
Nereis

18
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141.

142.

143,

Yeast reproduce by .

(1) fragmentation
(2) budding
(3) splitting

(4) spore formation

The type of pigment seen in phacophyceas ©

(1) chlorophyll
(2) phycoerythirin
(¥  phycocyanin

(#) fucoxanthin

The number of ATP molecules formed by
glucose molecules in aerobic respiration |
(1) 26

2y 32

(3) 36

(4} 20

19

141.

142,

143.
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WENEEST mped gera-

Qumasn DeLdaper.
(1) e g
B Gun® s
(3) Gergge

(4) B e(maurasid

GuCwm wuflsafle sramiuBn Smdl-
Wer auans -

(1) wuFBSWD
(2) SuECsn erfigHfes
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@ COuECarsnpden

srhperen saunsgfan Curg &@Ha-
Ganey apeidisaly e mars@n ATP apad
ampaeien arawatiams

(1 26

2y 32

0 3

(4) 20
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184, The chemical substances secreted by | 144, prornflows sgolsams epuid

endocrine glands are called as - GeduiuPd Ca@l Gunmérsd
T (Rib.
(1) Proteins (1 Lrshksar
(2) Enzymes 2) Omrfsdr
() Hormones 9 gomGuranad
(4) Fatty acids () Cargginy sulleked
145. Match the following : 145, Gummsgs :
(a}  Amphitrichous (1)) Ecoli (0) Bmapear speops () o Camen
sansuilangp
(b)  Atrichous (M) Pseudomonas () sasdleypuppema (i) @GLr-
Guorenmen
(¢} Lopotrichous (i) Rhodospirillum () o apaar spenpé () GonGon
rulbsrum s@mndlenp el -
@ib MyLigib
(d) Peritrichous  {iv) Corynebacterium (d) saps sl (iv) Canflafl
diphtheria umda i
gL
(1) tap-iiin (-0 (C)-(ivh, (di-(n) (1) Gad=(ati), (B)4i). (ch(iv), (i)
(2)  (a)-(iv). (B)(iki), (c)-(i8), (d)-(i) (2 (a)fiv), (b)-(hii), (c)-(), (d)-()
(3) (i), (v, (-G, (160 Q -t B, H(i). (-0
(4) (i), (B)giv), ()-(0), (d)-(ikh) () (a)(H), (B)(iv), (e300, (d)-(iai)




146.

147,

148.

149,
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SOCIAL SCIENCE / &¢p& Sileflwied
146, sael Pawwiisenens urmofliughsns

was the land gifted for the
maintepance of schools,

(1
(2)
3
(3)

Vellan vagai
Shalabhoga
Brahmadeya
Devadana

Who laid the foundation of the Quitb-Minar 7

(1)  IHtutraish
)
(3

(4

Muhammed Ghori
Qutb-ud-din-Aibak
Ghivas-ud-din-Balban

Find thie correct pair

(1) The Bibika Magbara
() Lal Quila

(3) Buland Darwaza
(4) Din-l-Panah

- Azam Shah
- Akbar
= Shah Jahan

- Aurangazeb

The Bijak s :

(1) Avatar of Krishna
(2) Holy Book of Jains
(3
(4)

Collection of Kabit's verses
Conduct code of Ulemas

21

147.

148,

149,
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150. Which of the following incident is related
with Shivaji in 1664 7

151.

152,

153.

(1)
(2)

(3

(4)

Conguered Javali

Sultan of Bijapur was assasinated by
Shivap

He audaciously directed his soldiers to
plunder Surat, the major Mughal port

He wounded and chased away the
Mughal general Shaista Khan

The Vaikuntha Perumal temple at

Kanchipuram was built by :
(1)  Mahendra Varman [
(2) Narasimha Varman |
{3) Narasimha Varman Il
(4)  Nandi Varman 1l
“Bigha Nitaya” means -

(1)
(2)
(3
(4)

Preachings of Jainism
Ajivika philosaphy
Buddhist schools
Buddhist tract

The first Buddhist commentator was ;

(1
(2)
(3)
(4)

Asvaghosa
Vajrabodhi
Sithalai Sathanar
Buddha Gosha

150, &pasnamumasatics 1664 - SHamgl-
e Ggmien ) Bagpey erg ?

151.

152.

153.

(1)
(2)

6}
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dgpifler sdgran silisdanamean
Qarew Galgd

wsarwuilar widws genaps
BETUTE SHISFMNE SSOWUTLE
Blog ven saer Ul eneugsd)
peswmnug serud Cayddnsrenan
snulUGES Brigse

angrdlundBadnon eoaugan. Quoswme
CamBamad sigu Wwdnent ;

(1)
(2)
(3)

)
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@ran mbd modhbwsuind
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‘Gs Spwn’ areug

(1)
(2)
(&)

()

awam wGLInEe s

afas shsmanb
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Quards sww [FEb

apged Guamis e eoguinffiw :

(1)
(2)
&)

0

e Canan
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digene) angaani
LpsCanan



154. Which among the following is not related to

155.

156.

157.

the Buddhist study centre ?
(1) Nalandha

(2) Banaras

(3) Taxila

(4) Vikramshila

The chronological order of the forts annexed
by Shivaji :

(1) Raigarh, Torna, Kondana

(2) Torna, Raigarh, Kondana

(3) Kondana, Torna, Ralgarh
(4) Kondana, Raigarh, Toma
At the end of which battle did Robert Clive

introduce Dual system of Government in
Bengal ?

(1) Battle of Plassey

(2) Battle of Bauxer

(3) First Karnataka war

(4)  Second Karnataka war

Through which treaty, Peshwa Baji Rao 11
accepted Lord Wellesley's Subsidiary
Alliance ?

m
(2)
(3
()

Treaty of Salbai
Treaty of Bassein
Treaty of Paris

Treaty of Mangalore

CODE |[VIIi| 11 | 23

154. Epssawaunflé s yis sad

155,

156.

157.

enowih e ?
(1) prevsn
@ v
() plsfab
(4) cl&gwion

fAargd estupflu Csrlasaflen
sfwures auflens

(1)  Qoosrt, Gsrienm, Gananjeunamr
(2 Cgniem, Gniant. GanasGamanm
O CararGanenm, Cgnivann, Qi
(4) CamemrBeunan, Gylsnt, Gamiam

wpsll Guniidn opgelld Forurl
Seoard BrieL U d weapaous
Qanam(h euphgnm ?

(1)  Semd Cunri

@ uaani Guird

(3) oppemb arpmoso Curd
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m
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158,

159,

160,

161.

The idea of competitive examination for
recruitment of Government staff was
introduced firdt by the

(1) 1813, Charter Act
(2) 1833, Charter Act
(3) 1853, Charter Act
(4) Indian Government Act, 1858

Ghatika was the Educational Institution of
period.

Pandlas

Cholas

Cheras

Pallavas

(1)
(2)
@
(4)

Mateh the following,

(4)  Arete (i) Wind
() Loess (i)  Rivers
() Lagoon (i) Glacier
(d) Plunge Pool {ivi Sea waves
(1
(2)
(3)
(4)

(a-{id), (B-00), (<)-4iv), (d)-(35)
()efi)s (B, ()L, ()iv)
({3}, (B)-iv), (-G, (d)-(iii)
()4t (b)-(hi), (h-Giv), ()60

International mother language doy is
celebrated on

(1} 2™ February
(2) 12" February
(3 21™ Januory

(4) 21™ February

158.

159.

160.

161.

. Cumigg Garay aped sios
et Fuerd adm smaas opgen
appdla SflopaiuBhdug

(1) 1813, Ul wé sl b

QO 1B uliwssb

(3) 1853, L wié sl Lih

(4) 1858, @pBu Bwss s ib
“Sipena” FWug & s
Beuanisdr

M urawgus

(2) Gampi

(3) Cagit

0 vowei

Quirmdgs.

(W) GG (L
(b) wfsmrdsd (i) mmser
(¢) elumsfsd (i) vellurgy

(d) slumdeay (iv) S&d o
Cp&an

D -G, W), ()-fiv). (@)

(2)  (a)-11), (b)-{id), (c)-{iid), (d}-(iv)

(3} (a)-i), (B)-fiv), (€)-{il), ()-(iid)

(#)  (a)=giii)., (b)-fii), (c)-(v). (d)-(1)

usenn ) priGoml Senb Qsrarn

LOLfeug -

(1) Sgeuf -2

(2)  Qlgef - 12

() menrsuf - 21

® dugad -21



162. The ore found in Kanjamalai in Tamil Nadu

163.

164.

is

(1)
(2)
()
4)

Find the odd one oul =

(1)

@
(3)

)

Match the following :
(a)

(b)

()

()
(N
)
(3)
(#)

Copper
Bauxite

Tron
Manganese

Kumbakarm
Killiyur
Agaya Gangai
Vettangudi

Maharashtra

Karmataka

Goa

Kerala

Marari Beach

Aguda Beach

Tarkarli Beach

Om Beach

(@)-(iii). (b)), (ch(iv). (d)-{i)
(a)-(3), (B)-(H), (c)-(iv), (d)ii)
(@)=(iv). (b)-{1), (c)-(iii), (<)1)
(@)-(di), (b)-~(iv), (o)1), (d)-{0)

[CODE[vim| 1 | 23|

162, slipssda sgsomald dolsad
Hg -

()
@

0

(4)

gmblmb
unsansi
By
wiksels

163. Qun@Epsns genans GerhEspHesad

(1) @bussey

(2) Beflyd

(3) pSTW SRS

0 Gaiiusy

164. Qunmasis -

(a) waTyrasliaTT () mu'n_ﬁ
SL MMy

(b) &fpnsmT (i) al{g:;rr
s ey

() Gsmeun (i) ;ﬁ&ffﬂ'ﬂg
sLpEe]

(d) Caparm iv) @b sLpssg

(1) (a)-k), (b)-(3), (-{iv), (d-{i)

(2) ()i, ()-{iid). ((iv), (d)-(ii)

(3)  (a)(iv), (b)-{ii) (eh-(iii), (d)-0)

(ad(iid). (B)-(iv), (ch(if), (d)-(0)
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165.

166.

187.

165,

Find the incorrect pair :
(1) South America - Mount Aconcagua

(2) North America - Mount McKinbey
(3) Europe = Mount Kosciuzko
(4} Asia - Mount Everest

In Mexico is called "Sierra

Madre”, a young folded mountain.

(1
@
@)
(4

Himalayas
Appalachian Mountains
Andes Mountains

Rocky Mountains

“Grand Banks™ melates to ;

(1) Minerals
(2) Industries
(3)  Fishing pround
(4)  Transport Road

Which is known as the ‘Light House of
Mediterrancan Sea ?

(1) St Helens
(2)  Strombali
()]
(4)

Viesuvius
Mauna Loa

165,

166,

167.

168,

Qunmbsns Henawenus serHa ;
(1 g@ﬂl SiGwhssr - Mﬁﬁﬂﬁmﬂ

fisqib
() e sCuflssr-Qwslsad dsnb
Q@ =Gsmiun - snsodlysGan
#lsgib
(4) i - srau@peiv Hlsmb

CosfCar gnind “Hurpr oG
aan Sopssliu@d Banbd wiedy
DG

(1)
2) SCewafuer waasdr
B) S weow

@ madl waase

Buuwma

‘Worarl Guivé
BT g

(1) safhn asmb

2) Gprfdsreasd
@ Benlin. semb

(4) Curagarig sraw

L gn

e mengaaciLBog
(1) Ssulaor. Gameven
@ lgmbGurd

@) Qeausaluey

(4) wayanr Geor



169.

170.

171.

172.

Swahili culture is & mixture of
and

(1) Arabs and Americans
(2)  Africans and Europeans
(3)  Arabs and Africans

(4) Africans and Asiaris

Which s the largest freshwater lake in
Africa 7

(1) Tanganyika
(2) Victoria

(3) Malavi

(4) Turkana

The river that runs from Australian Alps to
the Indian Oean is :

(1) Murray
(2)  Alexandria
(3)  Lachlan
(4) Swan

Xiluodu Dam 18 in
(1)  China

(2) Venczucla
(3) Brazil

(4) Paraguay

189. saundl sanssngd

[CODE[viu[ m [ 23]

Do m W
wasaflen Qesranad

B AN SQ@AUILITELD.

(1) 2CGmow whnk H@wllss

(2) oifiss oppo eGrmuSu

0O =Cou wpgew HuEfas

(4) olfss whpo il

170. uGfssrefld eda BalGufiu

penal g -

(1) wrisrafiésn
@ &G nfwn
(3) onwnresl

(4) giamenn

171. evflCrdlureld Hold veoos

Gamfd@ps @Pul Qummiss
aueny Lumipb B -

O witr

(2) Si@suderomaimg fMuwim

(3) wnéwen

(4) svauran

172. Baub s Smwpgera @b :

Q@ sar

(2) Qeuelasn
(3 SCpéd
#) urr@Gau
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173.

174.

178.

Thee leacting producer of petroleum in India ;

(1) Raniganj
(2)  Digboi
(Y Bokaro

(4)  Tharia

To become a Chief Minister, one should have
completed the age of :

(1) 18

(2) 25

(3) 35

(4) 30

A party s recognised as a National party
when it secures atleast of the
valid votes in Lok Sabha / Assembly olections
in four states,

(1) 3%

@ 3%

(4) 6%

173.

174.

175.

Spfurda QuGrreflun e puid
Cailnib fpgenans pagub :

HwewssIns Smbud GEet

awg yisSweifmes
Gaian(Dih

(1) 18
@ »
(3) 35

4) 30

g#m scd Callu s fwuns
siubaflésiuBaugnE wvisaaa
sbay préaw wrloksesssnea
sCiLwans Cpipgdld Qsawgsis

Cungs ardgsafld  andg-
senenss QupBlabsd Caudm®Bud.

(1) 5%
(2 3%
3 7%

0

6%



176.

177,

178,

Match the tollowing -

fa) First Woman (i)  Arundhati Roy
Governor

ib) First Woman  (ii)  Indira Gamdba
Prinve Minister

(¢) First Woman (i)  Meira Kumar
Speaker of
Loksabha

(d} First Indian (iv) Sarojini Naidu
Woman to win
Booker Prike

(1 (i) (B)-Gish (c)-in), (d)-(iv)

(2)  (a){iv), (). (c)=(0), ()-(1)

(%) (a)-liv), (b)-id), fe)-4d), ()40

(@) (a)e(iv), (G, (-G, (i)

According to Amendment of

Indian Constitution, a set of fundamental
duties are prescribed to all atizens of India

42
21m

53
45th

()]
@
(3)
(4)

Which country is nob s member of BIMSTEC ?

Indlin
Myanmar
China
Nepal

(1
(2)
(3)
(%)

29

176.

177.

178,

[CODE [ Vil 11 [ 23 )

QuUnESES :

@ apad Quar () Smpsd
s ol

wpd Quas (i) @B

Sggwn aTpd

wasweat (i) BSgw @ond

Wwad Huar

SUMBMLET

Lgan Liffls fiv) sGanggal

Buiim apes pre®

Bpfhwu Cua

(@)-{0). (b)-(in). fe)=(iit), (d)-iv)

(a)-(iv), (b)-(iid), ()-(id), ()-()

(al{iv), (b)-(i), (c)-(ik), (d)-(1)

(a)-iv), (bj-{idi), ()-43). (diii)

(b)

()

(<)

()
@
©)

)

@ppu spfluewewaba
sl gfimisifaue @Efu @k-
DA EHEST A g lILDI8 SLbsE
aTLpSaUL CHaTaran.

M 2-ay

2 2 -aug

8 3N -ay

(#) 45 -aug

Aaramamapges St s”
sl afl prisefie @aans gy -

(1) @i

(2)  Blusrannk

Q dan

(4)  Cpunenh
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179. The MLA of your constituency is one of the

180,

Ministers in the State assembly. He comes
under _ activity.

(1)
(2)
3)
(4)

Seoomdary economic
Tertiary economic
Quaternary economic

Quinary economic

Which among the following does not fall
under the market type based on the

Geographic Location ?

m
(2)
(3

(4)

Local Market

Regional Market
Spot Market

International Market

~00o-

179. erisar Gagrgfian sl wenp

180.

sgludlet wrfie s@vFsToaulls
Lkl GupmetarTi. S
BewbunBacild mikmigairt.

(1) Zraromb Peoa Qurmarmgng

(2) apeemmb Hena Qunmenngny

(%) mrensmb Rae Qunmemgny

@ mizrd o Quogengmy

Epssam apfa yddud ou-
S gflen sgliuen speng cumssatia
Qeangg ag ?

(1) msremi sphangscr

(2) S spegac

O =iews e

(1) stauGes shangad

«~no-
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